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a=b 7→ a=1=b // Ug=Ug=Ug

xr12 ; x + yr13 + xr12 ; yr23 + x + yr13 ; yr23 = 0

sl (2) =< e:f :h >

e =
0 1
0 0

: f =
0 0
1 0

: h =
1 0
0 −1

zr z =
h=h

2
+ e=f + f=e Yang rational

zr zs = zc
h=h

2
+ e=f + f=e Baxter trig

zr zsn = zcnh=h + 1 +
z
dn
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e=f + f=e
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+ 1− z
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e=e + f=f
Y [

Belavin elliptic


